[3. BEORE RYiCk2BEDI3H]

—Af]E—

22

R DN % i 7 THEL O (M, n)Z T _TKD X,

1) mn=7 (2) mn=-6

3) (m—1)(n—3)=9 (4) (m+3)(n+5)=14

5) (M+2)(n—4)=-—16

23

ROEX Z7- T HAREOMMm, n)Z Tk X,

(1) (m+2)(n+3)=35 (2) (m+1)(n+5)=24
(3) (m+2)(n—6)=—20 (4) (m—3)(n—7)=10
24

RO EX 2 7= TR DM, n)Z T ~TRD XL
(1) mn—4m+2n+1=0
(2) mn—5m—4n=38

25

KO ICE 2 K.

(1) 42%12CEH|-72L &, BLRY 2k X,

() HLIEDHEKa%n6THEI-72L %, FLETRYPATH o7z, B anfliz
ko X,

() H2EBanTTH -/mL %, FR -8TRYVDITH > 72, BHanflr Kk
0 X.

(4) 76%H Kb TE 572 X, FHHB6TRYPATH o7-. BHRbofE%E K
0 X.
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26
RO ICE Z X

(1) —13, —30, —82%9THEH -7zt TRV EZNZTIRKD X.
(2 7, —12, —97%4TCH| o7z ETORY EZNEZNRD X,
(3) -5 57, —84%TTH|o/LEoRVEZNZTNRKD L.
(4) -9, —20, —11%11CTHoL ZDRY ZZNTNRD K.

27

m, niI5TEH 7L 2R BZNEF NI,

DEESTE 572 ZTDHRY KD X,
(1) m-+n

(2) 3m—n

(3) mn

28

m, niZ8TH -7t 2R BZENF N2,

D #8TH| 572 L T DRY kD K.
(1) m—n

(2) 3m+2n

(3) 3mn

—B[AlE—
29

2L BB ThHDL, oL E, X

5.8 THDL. ToLE, X

%fﬁ%+l=% B+ HAKOMMm, nE TR k.

n



g—;ﬁ%_i:% B TR OMM, nETRTRD L.

70000 — DL DT H KD X,

32
5010%9THEH| 572 DR ko X,

33
aATEID YN WD & X, a2%4TEl- 72K 0 Bk k.

34
nNERE L35 L E, 2203 CTHID U 2 & ZEEE K.

35
9CHEIZ Lash, 5THIZ LIRIIMNMOARBOFCTHR/ND D DERKD X

36
UE140M D v A Z & UHEHBOM D 7 L Z#{a[flE| 22 H - ¢, ARt %E532940M1C 7% %
Xoiclzzw, YAZTthLlLzzhZWEE Z IZTX W, 2720, DAZE
RlLizznFnba b ilizE > bD LT 5.
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